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Q.1
Of the following compounds which has a wrong IUPAC name 


(1)
CH3 – CH2 – CH2 – 
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2,4 dimethyl -3- pentanone
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2-methyl -3- butanol



(4)  
CH3 – CH2 – CH2 – CHO    butanal

Q.2
The IUPAC name of CH3COCH(CH3)2 is – 

(1) 
4-methylisopropyl ketone 


(2) 
3-methyl-2-butanone


(3) 
Isopropylmethyl ketone
 


(4) 
2-methyl-3-butanone
Q.3
The IUPAC name of the compound  


 [image: image7.emf]HO




HO

   is -


(1) 3,3 -dimethyl-1-hydroxy cyclohexane 

 
(2) 1, 1 – dimethyl–3– hydroxy cyclohexane 


(3) 3,3-dimethyl-1-cyclohexanol  


(4) 1,1 - dimethyl - 3- cyclohexanol 

Q.4
The IUPAC name of the compound shown is -

[image: image8.emf]Cl
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Cl Br



(1) 6-bromo-2-chlorocyclohexene


(2) 3-bromo-1-chlorocyclohexene  


(3) 1-bromo-3-chlorocylohexene


(4) 2-bromo-6-chlorocycohex-1-ene

Q.5
The IUPAC name of [image: image9.emf]

  is


(1) 
1, 1-diethyl-2-dimethylpentane

 
(2) 
4, 4-dimethyl-5, 5-diethylpentane 


(3) 
5, 5-diethyl-4, 4-dimethylpentane


(4) 
3-ethyl-4, 4 dimethylheptane 

Q.6
What is the correct order of decreasing stability of the following cations?
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(1) II > I > III
(2) II > III > I


(3) III > I > II
(4) I > II > III

Q.7
In the following benzyl/alkyl system 


R – CH = CH2  or   [image: image13.emf]R
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(R is alkyl group) increasing order of inductive effect is –


(1) (CH3)3 C – > (CH3)2 CH –> CH3CH2–


(2) (CH3CH2 – > (CH3)2 CH –> (CH3)3C –


(3) (CH3)2 CH – > CH3CH2  – > (CH3)3C–


(4) (CH3)C – > CH3CH2  –> (CH3)2CH–

Q.8
When –CH3, 
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groups are  introduced on benzene ring then correct order of their inductive effect is -


(1) CH3 – > 
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(2) 
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Q.9
The correct order of increasing basic number of the bases NH3, CH3NH2 and (CH3)2NH is 


(1) NH3 < CH3NH2 < (CH3)2NH


(2) CH3NH2 < (CH3)2NH < NH3



(3) CH3NH2 < NH3 < (CH3)2NH


(4) (CH3)2NH < NH3 < CH3NH2

Q.10
Among the following, the least stable resonance structure is:
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Q.11
Consider the acidity of the carboxylic acids : 


(a) PhCOOH 



(b) o – NO2C6H4COOH



(c) p – NO2C6H4COOH



(d) m – NO2C6H4COOH 


Which of the following order is correct ? 


(1) a > b > c > d 
(2) b > d > c > a


(3) b > d > a > c
(4) b > c > d > a

Q.12
Which of the following is the strongest base -
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Q.13
The decreasing order of nucleophilicity among the nucleophiles
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(b) CH3O–


(c) CN–   
(d)  

(1) (d), (c) , (b) , (a)   
(2) (a),  (b), (c) , (d)

(3) (c) , (b) , (a) , (d)
(4) (b), (c) , (a) , (d)
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Q.14
The reaction

  is fastest when X is –


(1) NH2
(2) Cl


(3) OCOR
(4) OC2H5

Q.15
Amongst the following the most basic compound is–


(1) aniline
(2) benzylamine


(3) p–nitroaniline
(4) acetanilide

Q.16
Hyperconjugation involves overlap of the following orbitals –





(1) -
(2) -p



(3) p-p
(4) -
Q.17
CH3Br + Nu–  CH3 – Nu + Br–


The decreasing order of the rate of the above 
reaction with nucleophiles (Nu–) a to d is 


[Nu– = (a) PhO–, (b) AcO–, (c) HO–, 


(d) CH3O]


(1) d > c > b > a
(2) a > b > c > d


(3) b > d > c > a 
(4) d > c > a > b

Q.18
The correct order of increasing acid strength of the compounds


(a) CH3CO2H 
(b) MeOCH2CO2H
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(c) CF3CO2H
(d) 

is


(1) d < a < c < b
(2) d < a < b < c


(3) a < d < c < b
(4) b < d < a < c

Q.19
Which one of the following is the strongest base in aqueous solution ?


(1) Trimethylamine
(2) Aniline


(3) Dimethylamine
(4) Methylamine

Q.20
Presence of a nitro group in a benzene ring-


(1) 
activates the ring towards electrophilic substitution.


(2) 
renders the ring basic.


(3) 
deactivates the ring towards nucleophilic substitution.


(4) 
deactivates the ring towards electrophilic substitution.

Q.21
In allene (C3H4), the type(s) of hybridisation of the carbon atoms is (are)


(1) sp and sp3 
(2) sp and sp2 



(3) only sp2 
(4) sp2 and sp3
Q.22 
The following reaction is classified as : 

CH3CH2I + KOH (aq. solu.)  CH3CH2OH + KI


(1) 
Electrophilic substitution



(2) 
Nucleophilic substitution 


(3) 
Elimination




(4) 
Addition

Q.23
Consider the following bromides :
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The correct order of SN1 reactivity is


(1) B > C > A 
(2) B > A > C  


(3) C > B > A 
(4) A > B > C

Q.24 
The correct order of increasing basicity of the given conjugate bases (R = CH3) is –



(1) 
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(4) 
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Q.25
The strongest acid amongst the following compounds is –


(1) CH3COOH 



(2) HCOOH 



(3) CH3CH2CH(Cl)CO2H 



(4) ClCH2CH2CH2COOH

Q.26
Arrange the compounds in order of decreasing acidity 
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(1) II > IV> I > III 
(2) I > II > III > IV


(3) III > I > II > IV 
(4) IV> III > I > II

Q.27
The order of stability of the following 


carbocations :
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is –


(1) III > II > I
(2) II > III > I


(3) I > II > III 
(4) III > I > II

Q.28
In which of the following, functional group isomerism is not possible?


(1) Alcohols
(2) Aldehydes


(3) Alkyl halides
(4) Cyanides

Q.29
Which of the following is the correct order of acidity of carboxylic acids?


(i) Cl3CCOOH > Cl2CHCOOH > ClCH2COOH


(ii) CH3CH2COOH > (CH3)2CHCOOH 



> (CH3)3CCOOH


(iii)F2CHCOOH > FCH2COOH> ClCH2COOH


(1) (i) and (ii) 
(2) (ii) and (iii)


(3) (i) and (iii) 
(4) (i), (ii) and (iii)

Q.30
The Lassaigne's extract is boiled with conc. HNO3 while testing for halogens. By doing so it.



(1) Increase the concentration of NO3– ions 


(2) Decomposes Na2S and NaCN, if formed


(3) Helps in the precipitation of AgCl 


(4) Increases the solubility product of AgCl

Q.31
Which of the following does not show geometrical isomerism -



(1) CH3 – CH = CH – CH3


(2) CH3 – CH2 – HC = CH2

(3) CH3 – 
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(4) ClHC = CH – CH2 – CH3

Q.32
Racemic mixture is formed by mixing two -


(1) 
Isomeric compounds



(2)  Chiral compounds


(3) 
Meso compounds



(4) 
Enanitiomers with chiral carbon
Q.33
Geometrical isomerism is not shown by -


(1) 1, 1-dichloro-1-pentene 


(2) 1, 2-dichloro-1-pentene


(3) 1, 3-dichloro-2-pentene



(4) 1, 4-dichloro-2-pentene

Q.34
Which of the following compounds is not chiral? 


(1) 1-chloropentane



(2) 2-chloropentane


(3) 1-chloro-2-methyl pentane


(4) 3-chloro-2-methyl pentane 

Q.35
Which of the following molecules is expected to rotate the plane of plane-polarised light?
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Q.36
The number of stereoisomers possible for a compound of the molecular formula 


CH3 – CH = CH – CH(OH) – Me is –


(1) 6
 
(2) 3

 
(3) 2
 
(4) 4

Q.37
Identify the compound that exhibits tautomerism 


(1) 2-Butene 
(2) Lactic acid

 
(3) 2-Pentanone 
(4) Phenol

Q.38
Which of the following compounds will exhibit geometrical isomerism?


(1) 3 - Phenyl - 1 - butene


   
(2) 2 - Phenyl - 1 - butene


(3) 1, 1 - Diphenyl - 1 propane


(4) 1 - Phenyl - 2 - butene

Q.39
In Carius method of estimation of halogen, 0.15g of an organic compound gave 0.12 g of AgBr. What is the percentage of bromine in the compound?


(1) 68.08% 
(2) 34.04%


(3) 42.1% 
(4) 50%

Q.40
An organic compound gave 0.4655 g of CO2 on complete combustion. If the mass of the compound taken was 0.2115 g, what is the percentage of C in it?


(1) 13.30% 
(2) 26.67%


(3) 60.03% 
(4) 28.80%

Q.41
During hearing of a court case, the judge suspected that some changes in the documents had been carried out. He asked the forensic department to check the ink used at two different places. According to you which technique can give the best results?


(1) Column chromatography


(2) Solvent extraction


(3) Distillation


(4) Thin layer chromatography


Q.42
Which of the following alcohols on dehydration gives most stable carbocation?


(1) 
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(3) CH3 – CH2 – CH2 – CH2OH
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Q.43
Electronegativity of carbon atoms depends upon their state of hybridisation. In which of the following compounds, the carbon marked with asterisk is most electronegative?


(1)
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Q.44
Which of the following carbanion expected to be most stable?


(1) p-NO2C6H4
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(2) o-NO2C6H4
[image: image57.wmf]2

CH



(3) o-CHOC6H4
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Q.45
A compound which does not give a positive Lassaigne’s test for nitrogen is –


(1) urea 
(2) hydrazine


(3) azobenzene 
(4) phenyl hydrazine

Marking Scheme:


(i) Each question is allotted 4 (four) marks for each correct response.


(ii) ¼ (one fourth) marks will be deducted for indicating incorrect response of each question. No deduction from the total score will be made if no response is indicated for an item in the answer sheet.
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